RASHTRIYA SANSKRIT VIDYAPEETHA::TIRUPATI (A.P)

(Deemed to be University Estd. U/S 3 of UGC Act, 1956)
Accredited with CGPA of 3.71 on Four point Scale at 'A' Grade by NAAC
Graded as 1 Category deemed to be University by UGC

FACULTY OF EDUCATION

Mobile: 9441394486

Email: rsvpdeaneducation@gmail.com

Prof. Pralhad R. Joshi

Date: 03.01.2019.

Sub.: Sanction of Scholarships for the students who have studying during the academic year 2018-19- Regarding.

* * *

As per the Note approved by the Hon'ble Vice Chancellor Dated: 24.10.2018, It is submitted that Vidyapeetha is paying the scholarship to all students who have studying in the Siksha Sastri (B.Ed.) and Siksha Acharya (M.Ed.) courses every year. The Scholarship may be paid to the following eligible students as per the approved rates (SS-Rs.150/- and SA-Rs.200/-per month from date of Admission to 31.12.2018 for the academic year 2018-19.

Sl. No.	Programme	Year	Amount
1	Siksha Sastri	1 st year	42,729.00
2.	Siksha Sastri	2 nd year	39,565.00
3.	Siksha Acharya	1 st year	16,901.00
J.	Siksha	2 nd year	10,264.00
4.	Siksiid	TOTAL Rs.	1,09,459.00

Submitted for kind perusal and approval.

Head

(Dept. of Education.)

Dean (Faculty of Education) DR & FO i/c.

Registrar

24/10/18

2373

0/o. Registrar 0/w. No. 326.7... Date 2.5(10).18....

RASHTRIYA SANSKRIT VIDYAPEETHA::TIRUPATI (A.P)

Deemed to be University - Established under section 3 of UGC Act, 1956

DEPARTMENT OF EDUCATION

F.No.RSV/Dept.Edn./2018-19

Date: 24.10.2018.

Sub:- Sanction of Scholarships for the students who have studying during the academic year 2018-19 (for 10 months) – Regarding.

* * *

It is submitted that that Vidyapeetha is paying the scholarship to all students who are studying in the Siksha Sastri (B.Ed.), Siksha Acharya (M.Ed.) and Visistacharya (M.Phil.) courses every year. All the students of Siksha Sastri (B.Ed.), Shiksha Acharya (M.Ed) and M.Phil (Edu.) students have put in necessary attendance for the award of Scholarship from the date of admission. The Scholarship may be provided to the eligible students in the Department of education as per the rules of the Vidyapeetha.

S.No	Course/Year	Total No. of Students	Scholarship Provided
1	Siksha Sastri-1year	100	50
2	Siksha Sastri-2year	100	.50
3	Siksha Acharya -1 year	16	16
4.	Siksha Acharya -2year	08	08

Hence permission may please be accorded to sanction the Scholarships for the above said numbers as per enhanced rates.

Submitted for kind perusal and approval.

Head

(Dept. of Education.)

Dean

(Faculty of Education.)

Dean

(Academic Affairs)

24/10/18

DR & FO i/c

Registrar i/c

Vice-Chancellor

Jana

23.7 25/A)

0/e. Registrar 0/w. No. 326.7... Date 25(10) 1.8....

RASHTRIYA SANSKRIT VIDYAPEETHA::TIRUPATI (A.P)

Deemed to be University - Established under section 3 of UGC Act, 1956

DEPARTMENT OF EDUCATION

F.No.RSV/Dept.Edn./2018-19

Date: 24.10.2018.

Sub:- Sanction of Scholarships for the students who have studying during the academic year 2018-19 (for 10 months) – Regarding.

* * *

It is submitted that that Vidyapeetha is paying the scholarship to all students who are studying in the Siksha Sastri (B.Ed.), Siksha Acharya (M.Ed.) and Visistacharya (M.Phil.) courses every year. All the students of Siksha Sastri (B.Ed.), Shiksha Acharya (M.Ed) and M.Phil (Edu.) students have put in necessary attendance for the award of Scholarship from the date of admission. The Scholarship may be provided to the eligible students in the Department of education as per the rules of the Vidyapeetha.

S.No	Course/Year	Total No. of Students	Scholarship Provided
1.	Siksha Sastri-1year	100	50
2.	Siksha Sastri-2year	100	50
3.	Siksha Acharya -1 year	16	16
4.	Siksha Acharya -2year	08	08

Hence permission may please be accorded to sanction the Scholarships for the above said numbers as per enhanced rates.

Submitted for kind perusal and approval.

Head

(Dept. of Education.)

Dean

(Faculty of Education.)

Dean

(Academic Affairs)

24/10/18

DR & FO i/c

Registrar i/c

Vice-Chancellor

Salah

RASHTRIYA SANSKRIT VIDYAPEETHA::TIRUPATI (A.P)

(Deemed to be University Estd. U/S 3 of UGC Act, 1956)
Accredited with CGPA of 3.71 on Four point Scale at 'A' Grade by NAAC
Graded as 1 Category deemed to be University by UGC

FACULTY OF EDUCATION

Mobile: 9441394486

Email: rsvpdeaneducation@gmail.com

Prof. Pralhad R. Joshi DEAN

Date: 03.01.2019.

Sub.: Sanction of Scholarships for the students who have studying during the academic year 2018-19- Regarding.

* * *

As per the Note approved by the Hon'ble Vice Chancellor Dated: 24.10.2018, It is submitted that Vidyapeetha is paying the scholarship to all students who have studying in the Siksha Sastri (B.Ed.) and Siksha Acharya (M.Ed.) courses every year. The Scholarship may be paid to the following eligible students as per the approved rates (SS-Rs.150/- and SA-Rs.200/-per month from date of Admission to 31.12.2018 for the academic year 2018-19.

Sl. No.	Programme	Year	Amount
1.	Siksha Sastri	1 st year	42,729.00
2.	Siksha Sastri	2 nd year	39,565.00
3.	Siksha Acharya	1 st year	16,901.00
4.	Siksha	2 nd year	10,264.00
		TOTAL Rs.	1,09,459.00

Submitted for kind perusal and approval.

Head (Dept. of Education.)

Dean (Faculty of Education) DR & FO i/c.

Registrar

24/10/18

2373

0/o. Registrar 0/w. No. 326.7... Date 2.5(10).18....

RASHTRIYA SANSKRIT VIDYAPEETHA::TIRUPATI (A.P)

Deemed to be University - Established under section 3 of UGC Act, 1956

DEPARTMENT OF EDUCATION

F.No.RSV/Dept.Edn./2018-19

Date: 24.10.2018.

Sub:- Sanction of Scholarships for the students who have studying during the academic year 2018-19 (for 10 months) – Regarding.

* * *

It is submitted that that Vidyapeetha is paying the scholarship to all students who are studying in the Siksha Sastri (B.Ed.), Siksha Acharya (M.Ed.) and Visistacharya (M.Phil.) courses every year. All the students of Siksha Sastri (B.Ed.), Shiksha Acharya (M.Ed) and M.Phil (Edu.) students have put in necessary attendance for the award of Scholarship from the date of admission. The Scholarship may be provided to the eligible students in the Department of education as per the rules of the Vidyapeetha.

S.No	Course/Year	Total No. of Students	Scholarship Provided
1	Siksha Sastri-1year	100	50
2	Siksha Sastri-2year	100	.50
3	Siksha Acharya -1 year	16	16
4.	Siksha Acharya -2year	08	08

Hence permission may please be accorded to sanction the Scholarships for the above said numbers as per enhanced rates.

Submitted for kind perusal and approval.

Head

(Dept. of Education.)

Dean

(Faculty of Education.)

Dean

(Academic Affairs)

24/10/18

DR & FO i/c

Registrar i/c

Vice-Chancellor

Jana





ITRIYA SANSKRIT VIDYAPEETHA IRUPATI – 517 507, (A.P.)

8-19 Ba

F.No. RSVP/VV/Sch./Admn/2018-19

Note Submitted:

Sub: Payment of Scholarships for the students provisionally admitted during the Academic year 2018-19 -three years sanction -Regarding.

It is submitted that during the academic year 2018-19, (53) Fifty three Regular Research Scholars have been admitted in the Vidyavaridhi course.

As per the norms of the Vidyapeetha, the students who have joined as Regular Research Scholars are to be paid the scholarships subject to non-receipt of other scholarships, like JRF/Sansthan etc., for which the application form from the Regular scholar have been called for the Vidyapeetha. The details of expenditure to be incurred on this will be as follows:

s.no	HEAD OF ACCOUNT	No. of Research Scholars	DETAILS	TOTAL RS. PS.
111	Scholarship	53.	Rs.2000 per month x for 36 months x 53 scholars	38,16,000-00
2	Contingent Grant	53	Rs. 2000 per head x 53 scholars (one time)	1,06,000-00
			Total	39,22,000-00

(Rupees Thirty nine lakh and twenty two thousands only)

\$anction may please be accorded to pay scholarship for the scholars of Vidyavaridhi course who have admitted in the academic year 2018-19 and to incur the expenditure for the entire course period from the funds of Grant-in-aid of Vidyapeetha. List of Regular scholars are enclosed, for perusal.

Head (R&P)

Convener, VRC

Faculty of Education

Sahitva & Samskriti

Vedavedangas

Registrar

Dean Darsanas

Academic Affairs

RASHTRIYA SANSKRIT VIDYAPEETHA: TIRUPATHI - 517507 - A.P

(Deemed to be University established under section 3 of UGC Act, 1956)

F.No/RSV/ACD/2018-19

Date: 11.9.2018

Note Submitted:

Sub: Sanction of scholarships for the students who have studied during the current academic year – 2018-19 (for 10 months) – Regarding

非非非非非

It is submitted that the Vidyapeetha is paying the scholarship to all students have studied in the regular courses every year. The students have been studied to – Sastri, Sastri VB, B.Sc., B.A.,B.Sc., Yoga, Acharya, M.A. Sab, M.A Hindi M.Sc., Mphil., (1st 2nd &3rd years) courses. The total commitment for the academic year i.e. 2018-19 for Rs 38,37,500. Hence permission may please be at to sanction and to incur the total expenditure from the non plan budget fo academic year 2018-19

4CAGET	THE YEAR A				TOTAL
s.NO	COURSE/YEAR	TOTAL NO. OF STUDENTS	RATE OF SCHOLARSHIP EACH COURSE	TOTAL AMOUNT REQUIRED FOR PAYMENT OF SCHOLARSHIP PER MONTH	REQUII PAYM SCHOLAI THE AC YE (10 MC
	<u> </u>	00	300	26,400	
1.	PRAK -SASTRI-1	88	300	29,400	
	PRAK - SASTRI -2	98	350	37,450	
2.	SASTRI – 1	107	350	50,750	
	SASTRI – 2	145	350	53,900	
	SASTRI - 3	154		2,450	
	SASTRI – VB – 1	07	350	1,050	
	SASTRI – VB – 2	03	350	2,450	·
	SASTRI – VB – 3	07	350	2,800	
		08	350	4,550	
4.	B.Sc - 1	13	350	2,800	
	B.Sc - 2	08	350	2,800	
	B.Sc - 3	08	350	5,950	
5.		17	350		
	B.A - 2		350	9,100	
	B.A – 3	19	350	6,650	
6.	B.Sc Yoga - 1	178	400	71,200	
7.	ACHARYA – 1	176	400	70,400	
	ACHARYA – 2		400	400	
8		01	400	000	
	M.A SAB – 2	00	400	400)
9		01	400	4,400)
 	M.Sc – 2	11	400	3,60)
10	TITALINI 1	09	400	5,20)
	M.A. HINDI – 2	13	750	37,50	
	 	50		3,83,75	
1	1. 191.5 1111		Geand Total		

Submitted for approval

A.R

DEAN (A.A)

D.R/FO

Registra





YA SANSKRIT VIDYAPEETHA ÍIRUPATI – 517 507, (A.P.)

8-19 Ba

F.No. RSVP/VV/Sch./Admn/2018-19

Note Submitted:

Payment of Scholarships for the students provisionally admitted during the Sub: Academic year 2018-19 -three years sanction -Regarding.

It is submitted that during the academic year 2018-19, (53) Fifty three Regular Research Scholars have been admitted in the Vidyavaridhi course.

As per the norms of the Vidyapeetha, the students who have joined as Regular Research Scholars are to be paid the scholarships subject to non-receipt of other scholarships, like JRF/Sansthan etc., for which the application form from the Regular scholar have been called for the Vidyapeetha. The details of expenditure to be incurred on this will be as follows:

S.NO	HEAD OF ACCOUNT	No. of Research Scholars	DETAILS		TOTAL RS. PS.
: _{5,} 1 } 	Scholarship	53	Rs.2000 per month x for 36 months x 53 scholars		38,16,000-00
2	Contingent Grant	53	Rs. 2000 per head x 53 scholars (one time)		1,06,000-00
-				Total	39,22,000-00

(Rupee's Thirty nine lakh and twenty two thousands only)

\$anction may please be accorded to pay scholarship for the scholars of Vidyavaridhi course who have admitted in the academic year 2018-19 and to incur the expenditure for the entire course period from the funds of Grant-in-aid of Vidyapeetha. List of Regular scholars are enclosed, for perusal.

Head (R&P) Convener, VRC

Faculty of Education

Sahitva & Samskriti

Vedavedangas

Registrar

Dean Darsanas

Academic Affairs

RASHTRIYA SANSKRIT VIDYAPEETHA: TIRUPATHI – 517507 – A.P

(Deemed to be University established under section 3 of UGC Act, 1956)

F.No/RSV/ACD/2018-19

Date: 11.9.2018

Note Submitted:

Sub: Sanction of scholarships for the students who have studied during the current academic year – 2018-19 (for 10 months) – Regarding

北米米米米

It is submitted that the Vidyapeetha is paying the scholarship to all students have studied in the regular courses every year. The students have been studied to – Sastri, Sastri, Sastri VB, B.Sc., B.A.,B.Sc., Yoga, Acharya, M.A. Sab, M.A Hindi M.Sc., Mphil., (1st 2nd &3rd years) courses. The total commitment for the academic year i.e. 2018-19 for Rs **38,37,500**. Hence permission may please be at to sanction and to incur the total expenditure from the non plan budget fo academic year 2018-19

	THE JOHN STATE				TOTALA
s.no	COURSE/YEAR	TOTAL NO. OF STUDENTS	RATE OF SCHOLARSHIP EACH COURSE	TOTAL AMOUNT REQUIRED FOR PAYMENT OF SCHOLARSHIP PER MONTH	REQUIR PAYME SCHOLAR THE AC. YEA (10 MO)
	a Leven I 4	88	300	26,400	2
1.	PRAK -SASTRI-1	98	300	29,400	
	PRAK – SASTRI -2	107	350	37,450	
2.	SASTRI – 1	145	350	50,750	
	SASTRI – 2	154	350	53,900	
	SASTRI - 3	$-\frac{1}{07}$	350	2,450	
3.	SASTRI – VB – 1	03	350	1,050	
	SASTRI – VB – 2	07	350	2,450	
	SASTRI – VB – 3	08	350	2,800	
4.	B.Sc - 1	13	350	4,550	
	B.Sc - 2	08	350	2,800	<u></u>
	B.Sc - 3	08	350	2,800	
5.		17	350	5,950	
	B.A - 2	$\frac{1}{26}$	350	9,100	
	B.A – 3		350	6,650	ļ
6.	B.Sc Yoga - 1	178	400	71,200	
7.	ACHARYA – 1	176	400	70,400	
	ACHARYA – 2	01	400	400	<u> </u>
8.	M.A SAB 1	00	400	000	
	M.A. SAB – 2	00	400	400	
9	. M.Sc - 1		400	4,400	
	M.Sc - 2	11	400	3,600	
10	. M.A. HINDI – 1	09	400	5,200	
	M.A. HIND1 - 2	13	750	37,500	
11		50	Gland Total	3,83,750)
			1 State 2 State	D. co	Jan

Submitted for approval

- Μ<ν~^ - A.R DEAN (A.A)

DR/FON

Registra